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Step 1 : Channel 14 mxq-tdc vs mxq-adc
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Step 1 : Channel 15 mxq-tdc vs mxq-adc
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Step 1 : Channel 16 mxq-tdc vs mxq-adc
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Step 1 : Channel 22 mxq-tdc vs mxq-adc
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Step 1 : Channel 26 mxq-tdc vs mxq-adc

0

50

100

150

200

250

300

350
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Step 1 : Channel 30 mxq-tdc vs mxq-adc
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Step 2 : Channel 6 mxq-tdc vs mxq-adc

0

5

10

15

20

25

30

35
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Step 2 : Channel 8 mxq-tdc vs mxq-adc
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Step 2 : Channel 12 mxq-tdc vs mxq-adc
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Step 2 : Channel 16 mxq-tdc vs mxq-adc
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Step 2 : Channel 22 mxq-tdc vs mxq-adc
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Step 2 : Channel 30 mxq-tdc vs mxq-adc
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Step 2 : TPC vs. VPD z Vertex using <East> & <West>
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Step 3 : TPC vs. VPD z Vertex using <East> & <West>
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Step 6 : Channel 23 mxq-tdc vs mxq-adc

mxq-adc
210

3
10

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5

Step 6 : Channel 23 mxq-tdc vs mxq-adc

0

100

200

300

400

500

600

Step 6 : Channel 25 mxq-tdc vs mxq-adc

mxq-adc
210

3
10

m
xq

-t
dc

 [n
s]

 

5−
4−

3−
2−
1−

0

1

2

3

4

5
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Step 6 : Channel 30 mxq-tdc vs mxq-adc
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